#### South Lanarkshire Council

#### Transfers Report

This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 3 - Clydesdale East

5,289

1,323

#### Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Alex ALLISON	Scottish Conservative and Unionist	1,364
Ralph BARKER	Scottish Labour Party	869
Eric HOLFORD	Scottish Conservative and Unionist	794
Gareth KIRK	Scottish Family Party Pro-Family, Pro-Marriage, Pro-Life	49
Ian MCALLAN	Scottish National Party (SNP)	1,513
John MCLATCHIE	Scottish National Party (SNP)	260
Nicholas Mark TUCKER	Scottish Liberal Democrats	162
Claire Elizabeth WATSON	Scottish Greens - Think Global Act Local	278
	Total	5,289

Candidate Alex ALLISON Elected with 1,364 votes, being in excess of the quota of 1,323 Candidate Ian MCALLAN Elected with 1,513 votes, being in excess of the quota of 1,323

This report contains the transfers results.

# Stage 2 - Surplus of Ian MCALLAN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ralph BARKER	62	0.12557	7.78534
Transfer to Eric HOLFORD	27	0.12557	3.39039
Transfer to John MCLATCHIE	1,272	0.12557	159.72504
Transfer to Nicholas Mark TUCKER	24	0.12557	3.01368
Transfer to Claire Elizabeth WATSON	83	0.12557	10.42231
No further preference	42	0.12557	5.27394
Not transferred due to rounding			0.01259
	Total		190.00000

This report contains the transfers results.

# Stage 3 - Surplus of Alex ALLISON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ralph BARKER	93	0.03005	2.79465
Transfer to Eric HOLFORD	1,152	0.03005	34.61760
No further preference	72	0.03005	2.16360
Not transferred due to rounding			0.01180
	Total		41.00000

This report contains the transfers results.

# Stage 4 - Exclusion of Gareth KIRK

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ralph BARKER	3	1.00000	3.00000
Transfer to Eric HOLFORD	18	1.00000	18.00000
Transfer to John MCLATCHIE	2	1.00000	2.00000
Transfer to Nicholas Mark TUCKER	6	1.00000	6.00000
Transfer to Claire Elizabeth WATSON	5	1.00000	5.00000
Transfer to John MCLATCHIE	2	0.12557	0.25114
Transfer to Ralph BARKER	2	0.03005	0.06010
Transfer to Eric HOLFORD	3	0.03005	0.09015
Transfer to Nicholas Mark TUCKER	1	0.03005	0.03005
No further preference	15	1.00000	15.00000
No further preference	1	0.12557	0.12557
Not transferred due to rounding			0.00000
	Total		49.55701

This report contains the transfers results.

## Stage 5 - Exclusion of Nicholas Mark TUCKER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ralph BARKER	69	1.00000	69.00000
Transfer to Eric HOLFORD	31	1.00000	31.00000
Transfer to John MCLATCHIE	8	1.00000	8.00000
Transfer to Claire Elizabeth WATSON	31	1.00000	31.00000
Transfer to Ralph BARKER	2	0.12557	0.25114
Transfer to Eric HOLFORD	1	0.12557	0.12557
Transfer to John MCLATCHIE	8	0.12557	1.00456
Transfer to Claire Elizabeth WATSON	9	0.12557	1.13013
Transfer to Ralph BARKER	6	0.03005	0.18030
Transfer to Eric HOLFORD	4	0.03005	0.12020
Transfer to Claire Elizabeth WATSON	4	0.03005	0.12020
No further preference	29	1.00000	29.00000
No further preference	4	0.12557	0.50228
No further preference	6	0.03005	0.18030
Not transferred due to rounding			0.00000
	Total		171.61468

This report contains the transfers results.

## Stage 6 - Exclusion of Claire Elizabeth WATSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ralph BARKER	81	1.00000	81.00000
Transfer to Eric HOLFORD	22	1.00000	22.00000
Transfer to John MCLATCHIE	134	1.00000	134.00000
Transfer to Ralph BARKER	14	0.12557	1.75798
Transfer to Eric HOLFORD	3	0.12557	0.37671
Transfer to John MCLATCHIE	49	0.12557	6.15293
Transfer to Ralph BARKER	1	0.03005	0.03005
Transfer to Eric HOLFORD	3	0.03005	0.09015
No further preference	77	1.00000	77.00000
No further preference	26	0.12557	3.26482
No further preference	7	0.03005	0.21035
Not transferred due to rounding			0.00000
	Total		325.88299

This report contains the transfers results.

## Stage 7 - Exclusion of John MCLATCHIE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ralph BARKER	136	1.00000	136.00000
Transfer to Eric HOLFORD	21	1.00000	21.00000
Transfer to Ralph BARKER	379	0.12557	47.59103
Transfer to Eric HOLFORD	33	0.12557	4.14381
Transfer to Ralph BARKER	1	0.03005	0.03005
Transfer to Eric HOLFORD	6	0.03005	0.18030
No further preference	247	1.00000	247.00000
No further preference	919	0.12557	115.39883
No further preference	8	0.03005	0.24040
Not transferred due to rounding			0.00000
	Total		571.58442

This report contains the transfers results.

## Stage 8 - Exclusion of Eric HOLFORD

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ralph BARKER	286	1.00000	286.00000
Transfer to Ralph BARKER	28	0.12557	3.51596
Transfer to Ralph BARKER	318	0.03005	9.55590
No further preference	600	1.00000	600.00000
No further preference	36	0.12557	4.52052
No further preference	850	0.03005	25.54250
Not transferred due to rounding			0.00000
	Total		929.13488